
l;=g+= of]hgfsf] gfd &]ufgf   /sd ?

1 Ps j*f Ps pTkfbg -s[lif kz' tyf pBf]u_ uf=kf= 10000000

2 cGgk")f{ l/~/f]* uf=kf= 10000000

3

ufkf sf uf}/jsf of]hgf x? , Ps #/ Ps wf/f / cGo  

uf=kf= 10000000

30000000

cfly{s ljsf; ;ldlt 23900000

1 df^f] kl/If)f uf=kf= 300000

2 sf]bf] v]tL pTkfbg nfO{  k|f]T;fxg uf=kf= 500000

3

Ps #/ Ps kmnkm'n÷ Ps ljBfly{ Ps kmnkm'n /f]k)f sfo{s|d

uf=kf= 1000000

4

l;d l;Dn] ax'pB]lZoo s[lif{ ;xsf/L ef}lts k'jf{wf/÷ s[lif

ljsf; cg'bfg  j*f g+= 1 4000000

5 ;fd'xLs s[lif{ kmd{ k|f]T;fxg uf=kf= 1000000

6 o'jf :j/f]huf/ sfo{qmd uf=kf= 1100000

7 s[ifs dlxnf x?sf] Ifdtf ljsf; tflnd uf=kf= 550000

8 s[lif{ ljsf; sfo{qmd uf=kf= 3500000

9 cGgk")f{ g;{/L :yfkgf ÷ lj?jf ljt/)f uf=kf= 1000000

10 kz' ljsf; sfo{qmd uf=kf= 2050000

15000000

1 ko{^g k|jw{g cGgk")f{ Dof/fyg / dxf]T;j, uf=kf= 2000000

2 ^f*fkflg lx*gn]s x'+b} %f]d|f]~ ko{^g kbdfu{ j*f g+=  11 200000

3 r'On] l;k|f]~ ko{^g kbdfu{ j*f g+= 11 200000

4 yfd*f+*f ko{^g kbdfu{ j*f g+= 8 200000

5 pNn]/L d/]*f+*f ko{^g kbdfu{ j*f g+= 9 200000

6 tfnlrofpgL b]lv e'd]sf] yfg ko{^g kbdfu{ j*f g+= 4 200000

7 सााँधिखोला चाने घान्द्रुक धसत्क्यु पययटधकय पदमार्य धनमार्य j*f g+= 10 500000

8 ljleGg efiff tfnLd, s's,  <̂]sL~ tyf ufO* tflnd uf=kf= 1000000

9 k|lj)f u'?~ nf]s ;f+:s[lt{s s]Gb| uf=kf= 200000

10 xf]d: ]̂ k|a${g uf=kf= 500000

11 ejg d&dlGb/ k'/ftflTjs ;Dkbf ;+/If)f uf=kf= 1500000

12 kj{ ;df/f]x df}nf d&dlGb/ k'hf cfhf sfo{s|d cg"bfg  uf=kf= 500000

13 h+u axfb'/ ldt]/L ?v ;+/If)f j*f g+= 9 200000

14 gfu*f+*f Eo'^fj/ lgdf{)f j*f g+= 1 1000000

8400000

1 PsLs[t ;DkQLs/ ;'wf/ of]hgf uf=kf= 500000

2000000

1 ;fj{hlgs kl/If)f uf=kf= 

2 ;fj{hlgs ;'g'jfO{ rf}df;Ls uf=kf= 

;dk'/s cg'bfg 

ljlQo Joj:yfkg ;'zf;g 

lg)f{o g+= 1 

cfh a;]sf] cGgk")f{ ufp+sfo{kflnsfsf] a}&sdf k]z ePsf ;j} j*fsf al:t / ^f]naf^ k|fyldlss/)fsf ;fy

k|fKt of]hgfx?nfO{ ufp+kflnsfsf] of]hgf a}+s dflg Plss[t ug]{ lg)f{o eof] . ;fy} Plss[t of]hgfx?nfO{

k|fyldstfsf cfwf/df tklzn cg';f/sf lzif{sdf tklzn cg';f/ ah]^ ljlgof]hg ug]{ lg)f{o u/Lof] . 

s[lif{ / kz' tkm{ 

ko{^g tkm{ 

/fhZj tyf ljlQo Joj:yf 



3 gfu/Ls j*f kq uf=kf= 

4 pkef]Qmf ;ldlt tflnd uf=kf= 

5 cfGt/Ls lgoGq)f k|)ffnL sfo{ljlw uf=kf= 

6 ;j} j*fdf OG^/g]̂ , ]̂lnkmf]g h*fg uf=kf= 

2000000

1 cg'ej cfbfg k|bfg sfo{qmd -sd{rf/L, kbflwsf/L_ uf=kf= 500000

2 ufp+kflnsf lbjz uf=kf= 100000

3 d]nldnfk stf{ ;"lrs[t tflnd uf=kf= 300000

4 hgk|ltlgwL tyf sd{rf/L Ifdtf ljsf; uf=kf= 300000

5 tYof~s Joj:yfkg uf=kf= 200000

6 a[xt ;]jf k|jfx #'DtL lzlj/ uf=kf= 1100000

2500000

1 ljkb Joj:yfkg sf]if uf=kf= 1500000

2 ljkb Joj:yfkg k}/f] lgoGq)fsf]if uf=kf= 500000

3 Nof)*lkmN* ;fO* ;DefJotf cWoog uf=kf= 450000

4

;j} j*fdf kmf]x/d}nf Joj:yfkg sfo{qmd ;fdffu|L ljt/)f ;d]t uf=kf= 
550000

5 P]ltxf+l;s rf}tf/f kf]v/L ;+/If)f sfo{s\d uf=kf= 600000

6 Jojl:yt ljB'lts/)f kf]n v/Lb 2000000

7 e'Ifo lgoGq)f tf/ hfnL v/Lb 2000000

7600000

23284000

1 ;fj{hlgs ;f}rfno lgdf{)f gofk'n j*f g 5 400000

2 O=l;=*L= lzIfLsf kf]zfs cg'bfg uf=kf= 200000

3 ljBfno lzIff tyf v]ns'b ljsf; sfo{qmd uf=kf= 1200000

4 ckf~\u nIfLt sfo{qmd uf=kf= 350000

5 ;fd'bfoLs :jf:Yo OsfO{ k|a${g uf=kf= 300000

6 ;fd'bfoLs :jf:Yo OsfO{ k|a${g tf]Nsf j*f g+= 7 50000

7 ;Nofg :jf:Yorf}sL kmlg{r/ tyf pks/)f vl/b j*f g+= 4 150000

8 o'jf v]ns'b sfo{qmd uf=kf= 1100000

9 dlxnf Idtf ljsf; tyf z;lQms/)f sfo{qmd uf=kf= 1100000

10 :jf:Yo :j+;]ljsf k|f]T;fxg sfo{s|d uf=kf= 684000

11 blnt Ifdtf ljsf; tyf z;lQms/)f sfo{s|d uf=kf= 550000

12 hghftL Ifdtf ljsf; tyf z;lQms/)f sfo{qmd uf=kf= 1000000

13 uf=kf=:tl/o jfn ;+hfn u&g tyf Ifdtf ljsf; uf=kf= 200000

14 :jf:Yo rf}sL k'+hLut ljsf; sfo{s|d uf=kf= 500000

15 #fGb|'s (n Joj:yfkg of]hgf j*f g 10, 11 1500000

16 n#' hnljB't cfof]hgf 1000000

10284000

1 ltv]('+uf vfg]kfgL of]hgf j*f g+= 9 200000

2 lj/]&f+^L vfg]kfgL of]hgf j*f g+= 8 1000000

3 ler's vfg]kfgL of]hgf j*f g+= 7 300000

4 tNnf]ufp+ vfg]kfgL \̂of~sL lgdf{)f j*f g+= 11 300000

5 l;j} vfg]kfgL of]hgf j*f g+= 10 500000

;+:yfut ljsf; tyf ;]jf k|jfx 

vfg]kfgL tkm{ Ps #/ Pswf/f sfo{qmd 

;fdflhs ljsf; ;ldlt  

jftfj/)f tyf ljkb Joj:yfkg  



6 n'Dn] Ps #/ Ps wf/f sfo{qmd j*f g+= 6 1000000

7 n'o/f vfg]kfgL of]hgf j*f g+= 5 500000

8 kf/L:jf/f vfg]kfgL of]hgf j*f g+= 5 500000

9 ;dyn vf]nf ;Nofg Ps#/ Ps wf/f j*f g+= 4 1500000

10 ;'bfd] jl:t vfg]kfgL of]hgf j*f g+= 9 200000

11 blnt jl:t le/d'gL Ps #/ Ps wf/f j*f g+= 3 800000

12 kfp+b'/sf]^ Ps #/ Ps wf/f j*f g+= 3 500000

13 w/fkfgL  Ps #/ Ps wf/f j*f g+= 3 700000

14 ;]/frf}/ Ps #/ Ps wf/f j*f g+= 2 1000000

15 n]jf*] Ps #/ Ps wf/f j*f g+= 1 400000

16 kmNnfkfgL Ps #/ Ps wf/f j*f g+= 1 500000

17 wf/f kfgL s'+j/ vfg]kfgL j*f g+= 1 300000

18 KofpbL j*f g+= 1 / 2 Ps #/ Ps w/f j*f g+= 1, 2 300000

19 vfg]kfgL ;j]{If)f uf=kf= 500000

20 l;+rfO tyf vfg]kfgL Joj:yfkg uf=kf= 2000000

hDdf 13000000

१ k|lt j*f 12 nfvsf b/n] k'+hLut cg'bfg uf=kf= 13200000

2 j*f cg'bfg -sfo{kflnsf ;b:o_ uf=kf= 1200000
14400000

58000000

1 ufpkflnsf :yfO s]Gb| k'jf{wf/ lgdf{)f uf=kf= 2500000

2 blnt k'jf{wf/ ljsf; uf=kf= 1000000

3 l/~/f]* lj:tf/ tyf :t/f]GgtL uf=kf= 4000000

4 n'Dn] klx/f] lgoGq)f j*f g+= 6 300000

5 dlxnf z;lQms/)f sfo{qmd uf=kf= 1000000
8800000

1 ;'g k+w]/L b]lv leqjf/L ltjf/L ;Dd l;+rfO j*f g+= 1 200000

2 j]*vf]nf / ;ft#/] l;+rfO of]hgf j*f g+= 2 200000

3 #'DtL b]p/fnL esf/L *f+*f sn'jf kf]v/L l;+rfO{ of]hgf j*f g+= 3 200000

4 kmfk/v]t l;+rfO of]hgf j*f g+= 4 200000

5 em\jf/Lvf]nf emf]jf~v]t l;+rfO{ of]hgf j*f g+= 5 200000

6 wf]tLvf]nf l;+rfO of]hgf j*f g+= 6 200000

7 j];L y'?s'gf l;+rfO of]hgf j*f g+= 7 200000

8 # \̂ ]̂vf]nf u}/Ljf~ l;+rfO of]hgf j*f g+= 8 200000

9 lxn] l;+rfO of]hgf j*f g+= 9 200000

10 lSnp ;flb{kmf+^ ÷ lsDr]  l;+rfO of]hgf j*f g+= 10 200000

11 dTSo' l;+rfO of]hgf j*f g+= 11 200000

2200000

1 #fGb'|s a;kfs{ b]lv lemd?~ l;+(L af^f] j*f g+= 11 500000

2 l#phL vf]nf b]vL s'Dn'~ vf]nf l;(L jf^f of]hgf] j*f g+= 11 500000

3 :s'nrf]s b]lv g/yf]s ;Dd l;+(L af^f] lgdf{)f j*f g+= 10 500000

4 l;j} wfDn] l;+(L af^f] lgdf{)f j*f g+= 10 500000

5 pNn]/L l;+(L af^f] lgdf{)f j*f g+= 9 500000

6 nfdfv]t ls/lsr] vfpg] s' '̂d l;+(L af^f]  j*f g+= 8 500000

k'jf{wf/ ljsf; 

l;+rfO tkm{ 

u|fdL)f l;+(L af^f] 

वडा अनदुान - पधुिर्त _



7 l#;|L~vf]nf b]lv b]p/fnL kf]ygf l;+(L lgdf{)f j*f g+= 7 500000

8 n'Dn] df]bL#f^ l;+(Laf^f] lgdf{)f j*f g+= 6 500000

9 gof+k'n emf]jf~ b]lv ;Nofg l;+(L af^f] j*f g+= 5 500000

10 b]p/fnL k+rf;] ko{^g kbdfu{ lgdf{)f j*f g+= 4 500000

11 ;]/f wf/fkfgL l;+(L af^f] lgdf{)f j*f g+= 3 500000

12

&'nfrf}/ ;f}/]gL ;]/frf}/ u}/fkfgL x'+b} /fhdfu{ l;+(L af^f] lgdf{)f

j*f g+= 2 500000

13 kl/of/ ^f]n l;+(L af^f] lgdf{)f j*f g+= 1 500000

6500000

1 KofpbL &'nf rf}/ u|f=;= :tf/f]Gglt j*f g+= 2 500000

2 af]*L{~ b]lv uf=kf=;Ddsf] u|f=;= :tf/f]Gglt j*f g+= 2 500000

3 (fjf xfOh'~ ;*s :tf/f]Gglt j*f g+= 6 500000

4 l;DkfnL dfemufp+ kmNnfkfgL u|f=; :tf/f]Gglt j*f g+= 1 500000

5 lbk a'(f#/ x'+b} s}*n] u|f=;= :tf/f]Gglt j*f g+= 2 500000

6 ;Nofg #'lDt n'o/f k'/fgf ufp+  u|f=; :tf/f]Gglt j*f g+= 5 500000

7 lj/]&f+^L df]x/Lof u|f=; :tf/f]Gglt j*f g+= 8 500000

8 hNsLgL vfpg] u|f=; :tf/f]Gglt j*f g+= 8 500000

9 #fGb|'s p/L  u|f=;= :tf/f]Gglt j*f g+= 11 500000

10 (fjf tldh'~ u|f=;= :tf/f]Gglt j*f g+= 6,7 500000

11 ;fSo'{ u}/Ljf~  u|f=;= :tf/f]Gglt j*f g+= 8 500000

12 gfu*f+*f lgjf/] u|f=;= :tf/f]Gglt j*f g+= 1 500000

13 j*f ejg b]lv r'xLg] kx/f u|f=;= :tf/f]Gglt j*f g+= 2 500000

14 b]p/fnL *f+*f wf/fkfgL x'+b} /fgLyf]s u|f=;= :tf/f]Gglt j*f g+= 3 500000

15 kTy/ d/fOr] sf+(] wDk'; u|f=;= :tf/f]Gglt j*f g+= 3 500000

16 tDd' df]x/Lof #fGb|'s u|f=;= :tf/f]Gglt j*f g+= 8,10 500000

17 wf}nflu/L u]^ gof+k'n #f^ :tf/f]Gglt j*f g+= 5 500000

18 %lj :d[tL x'+b} l;Dn] u|f=;= :tf/f]Gglt j*f g+= 1 500000

19 af+;vs{ emf/sf]^ nfdfrf}/ u|f=;= :tf/f]Gglt j*f g+= 4 500000

20 lu/Lrf]s emf]jf~ u|f=;= :tf/f]Gglt j*f g+= 5 500000

21
eo/ rf]s ;]/frf}/ x'+b} leqLaf^f] *fo/L rf]s ;Dd u|f=;=

:tf/f]Gglt 
j*f g+= 2 500000

22 &f] \̂g]vf]nf (fs] ;Jh'~ u|f=;= :tf/f]Gglt j*f g+ 6 500000

23 le/d'gL lxn] sfp*f*f u|f=;= :tf/f]Gglt j*f g+ 3 500000

11500000

2 gf}*f+*f clwsf/L *f+*f x'+b} sfls{sf] tx/f ;*s :tf/f]Gglt j*f g+= 1 2500000

1 gf}*f+*f leqLaf^f] :tf/f]Gglt j*f g+= 1 1000000

3 gf}*f*f ;]/frf}/ u|fld)f ;*s :tf/f]Gglt j*f g+= 2 2000000

4 (Ls'/ kf]v/L wf/fkfgL x'+b} b]p/fnL :tf/f]Gglt j*f g+= 3 2500000

10 sf+*] ebf}/] ;Nofg :tf/f]Gglt j*f g+= 4 7000000

9 xfOj] emf]jf~ x'b} ;Nofg :tf/f]Gglt j*f g+= 5 1500000

1 k'/fgf] #*]/L k;n x'+b} (fs|] uf=;= :tf/f]Gglt j*f g+= 6 1000000

7 n'Dn] #'DtL ler's x'+b} nfGb|'s  :tf/f]Gglt j*f g+= 7 3000000

8 dfemufp+ b]lv nfGb'|s df]^/ af^f] :tf/f]Gglt j*f g+= 7 1000000
5 lj/]&f+^L pNn]/L df]^/ af^f] :tf/f]Gglt j*f g+= 8,9 4500000

6 l;j} wfDn] x'+b} #fGb|'s :tf/f]Gglt j*f g+= 10 1500000

12 #fGb|'s lsD?~ vf]nf  :t/f]Gglt j*f g+= 11 1500000

29000000

cfly{s s]Gb| hf]*g] ;*s 

ufp+kflnsf :t/Lo ;*s 






